Integration (Indefinite)

For answers & solutions, visit: https://jsarkar.com/chapter/indefinite-integration (https://jsarkar.com/chapter/indefinite-integration)
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then find /f{ ( >}d:c where x # 0

2)If f'(z) = =z, f(1) = — 3thenfind f(z).

3) If /f(a:) dz = ¢(z), then find /:c5f(:c3) dz

4) If /f ) dx = ¢(x) then which one is true?
= ¢(), (b)ﬁbl( ) = f(z). ©)f'(z) = ¢(x), (d)f(x) + ¢(x) = cosntant.

NIf f(z) =

d d
5) Is the value of = [/f(a:) d:c} and /% [f(z)] dz are equal? Justify.

6) Find the value of /emogm dx

dy 3 +1 _
7)If = , then express y as a function of .
dr  z2(z+1)

d 1
8) If il = 3\/5 — 7 then express y as a function of x, where it is given that y = 12 when
x z

r=4
9) If slope of any curve at the point (93, y) be 2sin” px + 27" + Dy then find the equation of the
curve.

10) If slope of any curve at the point (z, i) be £2 — 2 and the curve passing through the point (3, 8)
, then find the equation of the curve.

x
11) If slope of any curve at the point (z, y) be — 7 and the curve passing through the point (1, 1),

then find the equation of the curve.

12) If slope of any curve at the point (x, y) be —y and the curve passing through the point (2, 1),
then find the equation of the curve.
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1
13) If slope of any curve at the point (z, y) be * + 1 and the curve passing through the

+ 22

point (0, 1), then find the equation of the curve.
14)If f"(z) = cos’z + 3, f(0) = 0 = £(0), then find f(z).

15) If f'(z) = = + =, f(3) = 4, then find f(z).
1+ z+ 22

2
z2(1 + z2?)

dzr
18
)/\/am—i—b—i—\/a:p—b

9) /cos 2r + sinx
1+ 2sinx

dx

20) /cosa: — cos 2z g

1 —cosx
21)/cos5x+cos4a: "
1 — 2cos3zx
22)/cos7:c—|—cos5:c -
1 — 2cosdx

cos8x — cosTx
23) dx
1+ 2cosbzx

cos’zx — sin’z
24) dx

v1+ cosdx

25) /sec2 z cos® 2z dz

2r — 2
26)/COS T — COS adw
COST — COS

27) /Sin4 x dx
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28) /(:054 x dx

29) /tan2 x dx

dz
30) dx
sin z cos2
dx
31) / ———— dx
sin“ x cos x
sec T
32) / dx
secx + tanx

sin®z — cos®z
33) — dx
1 — 2sin“xcos?x

sin®z — cos z
34) dx
. 2 2
1 — 2sin”“ z cos* x

. 6 6

simn- x + cos® x
35) / — dr

sin“ ¢ cos? x

sin® 2 — cos® z
36) [ — d
sin“ ¢ cos? x

dx
37) ,
sin“ x + cost x

cos2x
38) / - dz
sin®*z + costz
sin 2x

dzr
v 1+ cos2x

39)

sin 4x

dx
v1 4+ cos4dx
1) sin x
v/1+sinz

sin x

) v/1 —sinz

40)

4 dx

42 dx
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1
43) /—Jr cos T dx

1 —coszx

1 — s
44)/ﬂdm

1+ sinx

/ dx
45) | —
1+ sinz
/ dzx
46) | —
1 —sinz
47 —dm
) 4+ sinx
/ dzr
48) [ ——————
1 + cos2zx
/ dx
49) [ ——————
1 + cos2zx
/ dzx
50) [ ———
2+ cosx
/ dx
51) [ ———
1+ tanzx
/ dzx
52) [ ———
1+ cotzx
53) / dr
a+btanzx
/ dr
54) [ —————
1 + cosec x
55)/1/1+sin§daz
56) /\/1 + cosec x dx

57) /\/1 + secx dx
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/ dx
58) -
1+ sinx —coszx
dx
59) / -
2+ sinx + cosx
/ dx
60) -
3+ 2sinx + coszx

/ dx
61) -
asinx + bcoszx

dzx
coszT + \/gsina:

3sinx + 4cosa:

3sma: —4coszx

2+ 3cosx
sinx + 2cosx + 3

X

(3sinz + 4cos )’

dx

2cosx + 3sinx

4sinx + bcosx

d
4cosx + Ssinzx T

cosx + 2sinx
dz

3cosx +4sinzx

1+ cos4dzx

cotxr — tanzx

T

sm — sm(9 %)

x? +
sin?
sec? z dx

|
o/
o
3
/
/
o
o
&b
[

1+ z2
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2 .2

T sin“ x
) [T g

1+«

74)/ 0
(1 —sinf)(2 — sin )

75)/ cos 0 20
(1 + sinB)(2 + sin )

1 + tan?
76)/wdw
1+ cot’z

tanx
77) / dr
a + btan?z

tan x

va—+ btan? x

tan z sec?
79) dr
a2 + b2tan?

dz (b > a)

dx
80) dz
sec? z + tan? x

sec?

dx
Vb —sec?zx
dx
82) .
2sin“ z + cos? x

sinz — sin®
dx
1 —sin’z

84) /sin:c + sin® z + sin®
1+ sinx

dx

2 .4

3 5
cos’x + cos’ x
85) / + dr
sin“x + sin” x

do

86/ 2sin2¢ — cos ¢
) 6 — cos?¢ — 4sin ¢

87) /tan xtan 2z tan 3z dx
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2ta
88)/sin_1 nﬁ_ dz
1 + tan? VT

89)/Sin1( 2z )d:p
1+ x2

90) /tan_l(seca: + tanz) dz

91) /tanl(secx — tanz) dx

o) /t(_) iz
1 —cosx
93) /tan_1<1+,ﬂ) da
Sin T
94) /tan—l,/l_ﬂ da
1+ sinz
n

95)/ T iz (n € N)

rz—1

VT
96)/\/5+2d93

2
1
(x 4+ 1)

x? p
98
)/(ar:2 + a?)(z? + b?) v

251: 23:1:
%) / i
2$ _|_ 27$

100) /(ealogew +ewlogea) dx

101)/& dx

cos?(ze®)

102) /M dz
z(1 + ze®)

Page 7 of 26



S5z 3x
103) /w dz
et + e

6x 4z
104) /ﬁ dz
er f e~ 2

105) /6363235 dx

dx
106) /—2
e?(e® + 1)
107) /\/ e?® + ae® dzx
/ dx
108) [ ————
/ dzx
109)
1 —e*
/ dx
110)
1+ e”

62:13
111)/ dzx
et +1

116) /6—(1 + zlogz) dz
T

N 1 N
117)/e [(1—:::) + (1:1:)2] d
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., z—1
122)/6 —3d:c
(r+1)

. (2 —4) "
123)/e P d

124) /ex(cot z + logsinz) dz

125) /e’”(tana: — logcos ) dx

(:133 +x + 1)
126) /eg” — dx
(1 + z2)7
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132) /e‘fH%(l +x— :L'2) dx

133) / d(log )

r+1

134) /(:1:4 + 2% + 1) d(=?)

135) /w\/w2 +1dz

3
136)/ T dr
2 +4

2
1
137) /(‘KE—Jr dz

22 — 1)

z?—1
138) /—2 dz
(z2 +1)

/ dx
139) [ ——
z3y/x2 — 1
140)/ dz
vzt — 1
/ dx
141) [ ———
/b — 1
142)/ ¥
vz + 1
/ dx
143) | ——
/x4 + 1
144) v 1 d
— dx
vzt + 1
145) z dz
VT + /T
146)/ dz
VT /T
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dz
153) / .
z(a + bx™)

2
—1

154)/m dz
x4 +1

4
1

155)/96 T e
x0 +1

156)/ dz
(14 22)y/1 + 2

dx

[

/ 2 —1
158) dz
(z2 + 1)1 + z*

dzx
159) /

m\/loge (:c + m)

dx

160 /\/a:2 + 1[log(z* + 1) — 2log x|

rd
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161)

/x+x/_+2f
1+ /=)

1 — 2
162)/udm

4+ 1
163)

/\/x2—1—1
T "

164)

=

165)/\/:c—|— Vi + ldx

166) /(a: +1)(22 — 1) da

167)/ 1+z,
11—z
168)/ 2az+1d
3 + 2
2
169)/ Y dz
z? — 3z + 2
1 — 2
170)/—33(1:1:
z(1l — 2z)

(x + 1)
V1 — 2z — 22

171)

2z + 3
172) r dz

Va2 +4x +5

/ 2¢ + 1
173) dx
Va4 4z + 3
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21
174)/ (@ ) dz

z/zt 4+ 322 4+ 1

/ dx
175)
Vi — 322 +5

/ dx
176)
V3 — br — 222

d
177)/ 2
V1—z— z?
/ dx
178)
Vb — 4z — 222
dx
179)/
Va2 +6z+5

dx
180)
/V(ﬂ?—?)(ﬂ?—i’»)

22
181)/— dz
V1 — 26

d
182)/ ’
T/ 20 — T2

183)/(33 — 1)z +1) a

184)

VT

1+ vz

185)/1/ij dz
186)/,/afxdx
187)/1/a;xdm

dzx
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4 —x
188)/:”/ dr

4+ x
189)/:1:,/&_93 da

a—+x
190) /\/4332 —9dzx

sin /T
191)/ \/_ dzr

Jz

cos /0 20
\/0sin’ 0

tan? . /T sec? . /x
193) / v
VT

192)

dzr

194)

1 —sinx

— dzx
Jx + cosx

dx
195) 5
a?cos?x + b?sin“ x

dx
196) .
1+ 3sin“x + Hcos?x

in 2
197)/ i — da

a?cos2x + b?sin“

in 2
198)/( i 5 dx

a2 cos? z + b2 sin? a:)

199) / dz
1 —sin*z
/ dz
200)
sin(z — a)cos(z — B)

dz
201) /sin(m — a)sin(z — f)
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202 / de
) cos(x — a)cos(z — B)
sin
203) / pey e dx

sin
204) / T de
sin(x — a)

sinx + cosx
205) / : dz
sin(z — a)

Sinx — Ccos<x
206) / dx

sin 2x

sinx + coszx
207) / dx
sin 2x

1 —tanzx
208) [ ————— dx
1+ tanzx

tanxr — tana
209) dx
tanx + tan o

210 dz
) sec2x — tan 2z

dx
211) -
sinx + secx

212) /sin 4z T d

213) / sin 2x da

Sin bz sin 3x

214) /(tana: — z) tan® z dz
215) /(:13 + cot z) cot’ z dz

216) /seca:log(seca: + tanz) dx
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217)/cosm+wsina: da
z(z + cosx)

sinx — £ coszT
218)/ : dx
z(z — sinz)

Sinx — £ CcosT
219)/ dz

z(x + sinx)

220) / _2smz .
5+ 3coszx

2sinx
221)/— dx
5+ 3cosx

/ dx
222) [ ———
5+ 4cosx
223) / de

5+ 4sinx

4
COS T
224) / — dx

sin“ x

225) / Vvtanzx

COS Z

sec4 i

vianzx
227)/ A dx

sin 2x

dx

226)

228) / sin® z cos® z dz
3 .3
229) /cos x sin? z dz

10
230) /sec9 x cosec? r dx

.5
sSin- &
231) / dz

cos? x
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.2
sSin &
232) / dz

cost x

sin
233) /,/ = dx
cos’ T

dz
234)
vVsinz cos” x

235) /tan3 z sect z dx

1+ xcosz
236)/33(1 _ x2e2sinm) dz

237) /\/tana: dr
238) /\/cot x dx
239) /(\/tanaz + 4/cot :13) dr

240) / (vtanz — y/cotz) dz

sin x

241) /—” OS2z

242) / _O%% dx

cos 2z

sin (tan -1 :L')
243) / dz
1+ z2

244) / sin <2 fan—1, /> ) dz
3+«
1 /1=
245) [ cos| 2cot dz
1+

/ dx
246)
(1+22)yv/tan 'z + 6

8

+

8

_|_

Page 17 of 26



247)

[ 1@3@) - £ @g(e) da

248) /we$ dx

249) /loga: dx
250) /log10 z dz
251) /log(:c + vz + a2> dx

log (:c +Vx? + a2>
252) / — dz

253) /(log z)? de

254) / (log /Z)* da

255) /(CB +1)%logz dz

256) / {log(log z) + (log :1:)2} dzx
257) / zl(logz)’ dz

log(1 —
258) / log1 — 2) - %) d
"

259) /log(l +2)' " de

260) /sin VT dz
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261) /cos V/Z dz

262) /sina: log(secz + tanx) dz
263) /a:em sinz dz
264) /:ce"‘c cosr dx
265) /JZ tan z sec? z dz
266) /x sin~ !z dx
267) /:c2 sin ! 3z dz
268) /JZ3 sinx dx

269) /:c2 cosx dr

270) /3"” cos® z dz
271) /sec3 x dx

272) /sec5 x dz

273) /cosec3:1: dr

274) / cosec’z dx

275) /L d
1+ sinz

276) /m da
1+ cosz
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277) / ztcosz

1 —sinx

2
278)/ v — da
(xsinz + cosz)
2
279)/ v = dx
(xcosz — sinx)
T
280)/ ~ dz
1 — cosx)
sin(z — a)
281) /\/
sin(z + a)

14 s
282) / - sz dx
sinz(1 + cosz)

283) / COS;B (1 — 3cos® :1;) dx

sin“ x
dzx
284)
sin® z cos(z + @)
dzx
285)
sin®  cos(z — )
dx
286)
sin® zsin(z + @)
dx T
287) where (O <a< —)
1+ cosacosx 2
dzr T
288) where (0 <a< —)
1 —cosacoszx 2
/ dx
289)
COS I + cos o
\/1 -+ cos@
290) / d9

(1- cos@
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.1
Sin I
291) / dz

xz

.1
I S1n xXr
202) | === dx

V1 — z?
293) /(sin_lw)2 dr

294) /(sin1 :13)3 dx

.1
295)/u da
(

)]

t -1
296) /ng dx
(1+ 2?)?

rlsin 'z
297) [ da
(1 - 22

1 /2a—
298)/xsin_1(§ aa :13) dx
299) /sin_l‘/ ° dz

a—+x

a
300) /sin_l‘/ dz
a—+x

301)/coslwdm

302) /cos—l(l> dz
xI

303) [cos ™! VT dz

sin_lﬁ— cos_l\/E

304) 1
sin” " /z +cos~!,/x

dx where (0 < z

IA

1)
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305) /(cos_1 zn)3 dz

306)/cosl1/ :c dr
a-+x

307) /sec_1 x dx

308) /tanl JVZ dz

309) Find /‘can_1 x dx; hence find /cot “lrdz

310) /Jztan_lw dr

]__
311) [tan~ '/ ——= da
1+«

312) /cotl(l —x+ a:2) dz

313)/[cot_1(1 —z+2°) +tan '(z — 1)] dz

etan‘lsc
314) /—2 dx
(1 + x2)
2

_ 1+ =2
315) /62“"n A u dx
1+ z2

2
316)/etan1w m dx
1+ 22

1

emtan_ T
317) /—3 dz
(1+ x2)2

318) /\/(a: — a)(B — z) dx where (o < z < )

dr
319) where (a < x < 8
e e SRt
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320)/ : dz where (a, 8 > 0)

V(z—a)(z — B
321)/($ J:/?f da
322)/(x * 1)\/? da
323) /\/1 J_r g dz

324) /(3:c — DVt +z+ 1de

2 1
325) rArs dr
V2 + 2z + 3
Vz? +1
326)/% dz
X
log(1
327)/L+§>dw
(1+ z)
log(1 + z2
328)/ 8 2) dz
(1+ z)

1
329)/ — _ da
(14 logz)

1
330) /M i

3

331) /sin(log x) dx

332) /cos 2x log( cosT tsmw ) dx

cosT — sinx

333) /cos 2z log(1 + tanx) dz
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334) /log(\/l +z++1—x)de

n—1

tan T
335)If I, = /tan" x dx, then show that I,, _{ = T -2 & then find /tan5 x dx
n —_—
n cos" lzsinz n-1 ,
336) If I, = [ cos™ x dz, then show that I,, = + I,,_ 5 & then find
n n

/ cos’ = dx

337)If Iy, , = /cosm x cos nx dx, then show that

(m+n)lpy n =cos"xsinne + mly_1,n-1

2
338)/ v dr
4 + 322 +1
2
x
339 d
)/23;4—7932—4 v
2
x
340 d
)/w4—|—az2—2 v

341)/ 2 — 1 d
XL
x4 + 322+ 1

2
342)/ i SV
zr+ 22+ 1

e
343) / dz
2 — 4z + 3

344) / IR

/ dx
345)
(1+ 2)V1 + 2z — 2

dx

346)/
(1+z)y1+ax —2?

dx

347)/
1+ z)ve?+z—1
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dx

348
)/(1+$2)\/$2—|—$— 1

/ dr
349)
2.3 2

1
3:1: m—|—3

dx

%0 / (14 z)y/1 — 22

351 de
)/(1 — )1 — z?

COS T
352) dz

\/5sin2x—12sina:—i—4
2
T
353 d
)/336—5333—1—6 v
354)/ dz
z(xt —1)

355) /d—m
z(z" + 1)

356) / de

/2" + 1
357) / dz

2 +x+1
358)/ o

zt + 22+ 1
359) / dz

3+ a2+ +1

360)/ v d
T
xt — 2?2 +1

dx

361
)/(2:1: + 1)v4z + 3

362) / dz
(2 +3)vVz + 5
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233
363)/ dz
\/437 _ 2:B—|—2 + 5

3z + 5
364 d
)/:1:3—:1:2—33—1—1 v

365)/ o5y
T
x2 — 2z + 10

1
366) / 3¢ + dz

202+ + 1

367)/ 2’ 3 d
XL
3 —Tx +6

(z — 2)(z — 1)
(x 4+ 1)

integration. Find the value of A.

23
369 d
)/:c4—i—a:2—12 v

3+ 3z + 2
370)/ $+2x+ dz
(2 +1)*(z + 1)

371)/ 02 4
5+ 4x — 2

322 -1
372) dz
2 —3x + 2

2
—1
373)/£§+f dx
x° + ¢ — b6z

LE2

374)/(:1; e 23~
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